TR

K =k

W44

447 -37x—40=0

4 + 4357 + 84x— 180 =0

X+ 7+ 14x+8=0

9> 4+ 109x% +274x — 336 = 0

X —6F —27x=0

H #A:

X437 —25x+21=0

7> — 765 + 172x— 96 = 0

X+ 22x% + 157x+ 360 = 0

X =T7¢ -8 =0

7 4+ x> —510x+ 432 =0
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e B

K =k

W44

447 -37x—40=0
x=-1,-8.5

A + 435+ 84x— 180 =0
5
~,—6,—6
4

x:

X+ 77+ l4x+8=0
x=-2,-1,~4

9> + 109x% + 274x — 336 = 0
8
2, —6,-7
9

x:

X —6F —27x=0
x=-3,9,0

H #A:

P

X437 —25x+21=0
x=3,-7,1

7> — 7635+ 172x— 96 = 0
6
> 8’2
7

x:

X+ 22x% + 157x+ 360 = 0
x=-8,-9,-5

X =T7¢ -8 =0
x=28,-1,0

T+ x> —510x+432=0
6
~,8,-9
7

x:
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